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A. B.   



 
 65 1-40 1.25 50 41-65 2

50 2B  
  
 ( )

10  


1-40 1.25 40 50  

3 1. 0.05mm  
        

4 2.  
        

2 3.  
        

3 4. CNS  
     
     

1 5.  
        

1 6.  
     
     

1 7.  
 Al Cr Mo   Cr W V 
 Si Mn Ni   Ni Cr W 

3 8.  
     
     

2 9.  
      
     

2 10.  
        

2 11. 10 m 5 m 5 m m  

 5  5 2   10  15    

3 12.  
        

3 13. 13 A B C 32 24 B
150 rpm C  

 125 rpm  
 125 rpm  
 350 rpm  
 75 rpm  

2 14.  
 m  mm  cm   m 

2 15. “1 ”  
 0.001 mm  0.01 mm  0.1 mm  1 mm 

1 16. (CNS) S20C  
        

3 17.  
         

2 18.  
        

1 19.  
        

1 20.  
      
     

4 21.  
      
     

4 22.  
      
     

2 23.  
 V      
     

4 24.  
     
     

3 25.  
  
  
  
  

1 26.  
      
     

4 27. CNS  
     
     

4 28.  
      
     

2 29. 10 kg/cm 30 kg/cm 160 kg  
 4 mm  4 cm  8 mm  8 cm 

2 30.  
        

1 31.  
      
     

2 32. 32 A 12T B 30 T C 36 T D 15 T
B 300 rpm A rpm  
 1000   1800 
 2000   3000 

1 33.  
  
  
  
  

3 34.  
     
     

2 35. 60 mm 22.6 m/min rpm  
 100  120  130  140 

1 36. 50
0.025

0.009



 mm 50
0.016

0


mm mm  

 0.007  0.009  0.02  0.025 

3 37. 60 600 rpm rpm  
 5  10  20  30   

4 38. 38  
 1/4  2/5  4/5  1/2 

3 39.  
      
     

3 40. 1 mm 100 mm  
 0.5  0.1  0.01  0.001 

 

32                          

 
 

            

38                          

 

3
5



20

6
0



50 25

 

            

13                          

 
 

            



46                          

S

30V

5K

10

 

41-65 2 25 50  
1 41.  
  
  
 1 1  
 1  

4 42.
 

  
  
  
  

4 43. (KVL)  
    
  
    
  

3 44.  
    
  
    
  

1 45.   
  
  
  
  

4 46. 46 S  
 20 ms 
 50 ms 
 200 ms 
 250 ms 
 
 

4 47. 60 300  
 4   6  
 12   24 
 

2 48. ( ) ( )60+377t200sin=tv ( ) ( )30+377t10sin=ti S
 

 500   1000  
 1000 3    2000 

3 49. 480 KW 0.6 0.8  
 120 KVAR   200 KVAR  
 280 KVAR   320 KVAR 
 

2 50. 50  
 0.5   0.6 
 0.75   0.8 

1 51. 51 P Q  
 800 W 400 VAR 
 800 W 1600 VAR 
 1000 W 1000 VAR 
 1000 W 1600 VAR 
 

1 52. RLC  
      
     

4 53. 110 V/60 W 110 V/20 W 220 V  
 20 W    
 110 V/60 W  
 60 W    
 110 V/20 W  
 

2 54. 3 Ω/6 W 6 Ω/24 W 9 Ω  
 24 W   18 W  
 12 W   9 W 

4 55. 55 E=   
 12 V   
 18 V 
 24 V   
 36 V 
 

3 56. 56 a b ETh RTh  
 9 V 4 Ω 
 6 V 4 Ω 
 9 V 4.5 Ω 
 6 V 4.5 Ω 
 

3 57. 57 C2  
 10 V 
 20 V 
 30 V 
 60 V 
 

1 58. 58 R  
 A B B A 
 B A A B 
 A B 
 B A 
 

1 59. 59 K=0.5 LT  
 LT=6 H 
 LT=8 H 
 LT=12 H 
 LT=14 H 

1 60. ( ) 5sin377t+10=ti  
 10 10.6 
 10 5 
 10.6 5 
 10 15 

1 61. 61 Y  

 S  
4

1
j-

5

1
   S  

2

1
j-

5

1
 

 
 5-j2 S   5+j2 S 
 

4 62. RLC R=200 Ω L=1 H C= 1 F 100 V 1
C  

 25 V   50 V  
 100 V   500 V 

4 63. 63 ab Rab  
 1 Ω 
 2 Ω 
 2.5 Ω 
 3 Ω 

 

2 64. L1 L2 K LT  
        

2 65. 65 Z=16 Ω XL=  
 6 Ω 
 8 Ω 
 12 Ω 
 20 Ω 
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